
Offer Points  Response Classification  

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 > 1  accept g1 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 > 1  wait g2 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 < −1  accept g2 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 < −1  wait g1 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 1  accept g1 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 1  wait g2 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = −1  accept nan 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = −1  wait nan 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 0  accept g1 

Ab 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 0  wait g2 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 > 1  accept g2 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 > 1  wait g1 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 < −1  accept g1 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 < −1  wait g2 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 1  accept nan 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 1  wait nan 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = −1  accept g1 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = −1  wait g2 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 0  accept g1 

aB 𝑃𝑡𝑠𝑡
𝐴 − 𝑃𝑡𝑠𝑡

𝐵 = 0  wait g2 

 


